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)sin[(2n—1)x]

9. f(x) =

)sin[(2n—1)x]
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14.Let f beevenon [-L,L], Then .[_LL f(x)dx = J‘_OL f(x)dx + J'OL f (x)dx. In the first

integral on the right, let t=—-x to get

L 0 L L L
L f(x)olx:-jL f (~t)dt + jo f (x)dx = jo f (~t)dt + jo f (x)dx .
But f(-t)= f(t) since f iseven.Hence _[_LLf(x)dx=2j0Lf(x)dx.
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15.Let f beoddon [-L,L], Then _[_Lf(x)dx: Lf(x)dx+ jo f(x)dx. let t =-x

to get jLL f(x)dx = - jf f(-tydt+ [ CF(X)dx = — [ CF(t)dt + jOL f(x)dx =0
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6. f(x)——[1+sm(2) cos(2)]+zw cos (7x)+

n+l

z( 1) [1+( 1" (sin(2) - COS(Z))]SIn(—X)

x> 2 (-1)" i
- = 42 cos(nx); Let x= et =—.
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X _”_+2Z( D’ cos(nx) ; Let x=0 get Z( D' -z

17. f(X)=— .
) 2 6 ~ n? 12

- 1 2n-1 4 & n" . (2n-1
2.¢(x)=— z(; 31) s[( n2 )”x] . s(x) = ;é(;nzl)sm[( n2 )ﬂx].

13.Define e(x):E[f(x)+ f(-x)] and o(x)=E[f(x)—f(—x)] . Then
e(x)+o(x)=f(x),and e(x)=e(-x),and o(x)=-0(-x).

15.sin(x) = ;——Z 1z

cos 2nx), Let x—— to get =
(2nx), 2 J ;4n2—1 2 4
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